£ = Multiply decimals by 10,100,1000

Name: Date: Score:
2.459 x 100 = 5.199 x 10 =
6.144 x 100 = 2.904 x 100 =
9.997 x 10 = 8214 x 10 =
10.031 x 10 = 5.776 x 1000 =
10.645 x 10 = 6.641 x 1000 =
1.139 x 10 = 9.476 x 100 =
9.843 x 100 = 10.934 x 10 =
9.516 x 1000 = 3.175 x 100 =
7.143 x 10 = 3.401 x 100 =
3.898 x 1000 = 10.914 x 100 =
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k. £ = Multiply decimals by 10,100,1000
Name: Date: Score:
2.459 x 100 = 245.9 5.199 x 10 = 51.99

6.144 x 100 = 614.4 2.904 x 100 = 290.4

9.997 x 10 = 99.97 8.214 x 10 = 82.14

10.031 x 10 = 100.31 5.776 x 1000 = 5776

10.645 x 10 = 106.45 6.641 x 1000 = 6641

1.139 x10=11.39 9.476 x 100 = 947.6

9.843 x 100 = 984.3 10.934 x 10 = 109.34

9.516 x 1000 = 9516 3.175 <100 = 317.5

7.143 x 10 = 71.43 3.401 x 100 = 340.1

3.898 x 1000 = 3898 10.914 x 100 = 1091 .4
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